Name _______________________________________________

Quiz #2, Fall 2006, College Math 1

1. Simplify, then indicate the degree of the resulting polynomial.
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Degree: 5

2. Factor.
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3. Simplify.
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4. Define an intercept.  What is the difference between the x-intercept and the y-intercept of a graph?

An intercept is a point where a graph crosses one of the axes.  The x-intercept is the point where the graph crosses the x-axis, and the y-intercept is the point where the graph crosses the y-axis.
_1219944347.unknown

_1219944754.unknown

_1219944817.unknown

_1219944865.unknown

_1219944478.unknown

_1219944238.unknown

